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1. Select the correct answer : 1x5=5

(@) Which of the following compounds does
not exhibit geometrical isomerism?

() [Pt(NH3),Cl,]

(i) [CO(NH3)4C12]
(i) [Mn (CN),Cl,]?"
() [Mn(CN)4Cl,]*"
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) Which of the follewmg
: Jlowest An Yalue? G
@) € ﬂ ﬁ\
(1) CO
(i) F-
(iv) NH;

for d is
SEED
(ii) 5p )
i) °F
i) “F
b it |

o AT :r]___-. - Py A e

“the 'n“n‘i g 1S 'east‘, lal

B (/I 2+ B sms
() BaMH,0)2"
(i) MgH,0)2"
(iij) SrH,0)2*
(iv) CaH,0)2*

() The electronj
( confi tic
gadolinium (Z = 64) is gura'

() [Xel4flsq7 g2
() [Xeas7 541 652
{m) (Xe]4f° 545 642




( 3)

Answer the following questions : 2x5=10

(@) Write the name and strt. ;()Fﬁa of one
L g
~ macrocyclic ligand.

& vy

(b) Give the J[UPAC name of the following : |
| NH,

(1 l (NH3)4C Fe(H,0)41Cl,
NH,

: (i) [Pt(Py)s][PtCl4]
(c) Define term symbol with example.

. (d) What do you mean by cpncerted path of
a reaction? Give an exgrnple.

(e Explain the causes of lanthanide .

COI]L- ab W) pnes

3. (a) Write the formula of the following
compounds : ' 1x2=2

() Diamidotetraamminecobalt(III)
methoxide
(ii) Tetraaminechloronitrito-N-
cobalt(Ill) chloride
("1 nat is Sidgwick effective atomic
number rule? Determine the effective

atomic number of the following
compounds : 1+3=4

(i) Fe(CO),NO),
(i) Mn,(CO);o
(iii) [Fe(CN)g]>~
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¢ any three questions -
¢ T

swe '
4, An pin and .

What ar e higl.'x-'S i
2 complexes? Predict the spES
and  write

) [ColNH;)e]’", pairing en
- 21000 cm ™" and A=230

(i) [Cr{H0)6]*", pairing enery

(b) () Discuss the optical isome
- metal coordination compous

AT Tthe Gpes MR- Alpabl™t
['N[(A__.A)S]n:t. . -

(W) What do % you mean -
naphelauxetic effect?

(c) Calculate the number of wunp:
electrons (n),

for the complex jon [CrH,0)¢]%*.

are the limitqgts #
o tations of crystal 3

(d) Explain the Struct

(i) Hexégquoiron(
(i) Hexafluoro,
14P—1500/126
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baltate(I1) jon




(B

for
tterns
the splitting pa |
€ abedral, tetrahedral &nd talsnt::Iiie
planar complexes R 3+2=5

Explain why Ag > B¢

-'5. Answer either (a) or (b) :
(a) (/i); What is base hydroly31s? Discuss
~  the mechanism of base€ hydroly31s

of the complex [Co(NH3)5C1] =
(i) Write the structure of the

intermediate that are formed in
syl and Sy2 mechanism  of

[MA5X]n + ; 2
i \pe 02 is _ labile  but |
o "< i, Wl e,

[Fe(CN)g]" ™ is inert. Explain. 2

(b) (i) Explain the associative and
dissociative mechanism in ligand
substitution reaction. NG

(i) Discuss briefly what type of
mechanism for acid hydrolysis of
octahedral complexes is suggested
by—

(1) charge on the substrate;

(2) strength of metal-leaving group
bond. ‘ ‘ 4

- g - 1
(i) What is meant by Sy1CB
mechanism? 1
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any one questlon 2%

(a) Actm1des exhlblt large
oxidation .statcs than

Explain.

6. 'Answcr

(b) Give three pomts of d1ﬂ'ere '
lanthanides and actinides.

* &k




